Séquence de Nombres Linéaires (C)

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
2517

Différence commune:

! !
2537 2547

|
2597

! ! !
4944 5019

Différence commune:

| |
5169 5244

|
5394

|
5619

| | |
7224 7244

Différence commune:

|
7274

|
7284

|
7314

! ! !
2440

Différence commune:

|
2740

! ! !
8177

Différence commune:

!
8402

! ! !
6170 6180

Différence commune:

|
6195

! ! !
5368 5388

Différence commune:

! ! !
6158 6233

Différence commune:

!
6533

! !
6683 6758
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Séquence de Nombres Linéaires (C) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

Différence commune:

! !
2537 2547

|
2567

|
2577

|
2587

10

1
2597

| | |
4944 5019 5094

Différence commune:

| |
5169 5244
75

|
5394

|
5469

1
5544

|
5619

| | |
7224 7234 7244

Différence commune:

| |
7254 7264

10

|
7284

|
7294

|
7304

|
7314

! ! !
2240 2340 2440

Différence commune:

!
2840

!
2940

|
3040

| | |
8027 8102 8177

Différence commune:

! !
8252 8327
75

|
8477

1
8552

!
8627

| | |
6170 6175 6180

Différence commune:

| |
6185 6190
5

|
6200

|
6205

|
6210

| | |
5368 5378 5388

Différence commune:

| |
5398 5408

|
5438

|
5448

10

! ! !
6158 6233 6308

| |
6383 6458

Différence commune:

75

|
6683

!
6758
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